ECAL alignment

David Ward

«+A few thoughts about ECAL alignment
+And related issue of the drift velocity of the tracking
+No answers — feedback appreciated
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2006 approach

X VS X %2/ ndf 799.3/18 yvsy %2 /ndf 1.233e+04 /8
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<Apply to 2007 data (run 300428; 50 GeV e")

eIntercept at x(track)=0 gives ECAL offset

eGradient gives correction to drift velocity (assuming 1cm
pitch of ECAL is accurate)
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After correction
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Offset has been corrected to ~0.1 mm (good enough?)
eGradient overshoot; especially in y (n.b. S-distortions).
els there a better way of getting the drift velocity?
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Track position vs pad index In layer 1

| x track Ecal hit : 6*(WI-1)+I= 11 |
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eConsider events with just a single hit in first layer
For each cell index in x (or y) plot x (y) of extrapolated track

eldentify coordinates of cell edges

ePlots shown for Run331298 (30 GeV n*)
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Possible way to do this

x(layer 1) vs x
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R —_— T _—_—

Py ENREE SRS TSNS SN WSS S S——" 0 -

ol

IIIlilll-liIIIIiIIIIiIIIIlIIIIiIIIIiIIIIiIIIIiIIII
-50 40 -30 -20 -10 0 10 20 30 40 50

<x> of ECAL cell vs x(track)
Run330428 50 GeV e-
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Fit Fermi function to extract parameters

x(layer 1) vs x ¥ [ ndf 36.5/ 39
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Potential to fix
edges to a few
tens of microns?
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Likewise Iny

y(layer 1) vs y x? / ndf 37.42 /42
_Impact | pO -11.01+ 0.03

| P2 -4.763+0.019 | Edge position
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y: Run331298 30 GeV nt*

y(layer 1) vs y x? / ndf 110.6 / 46
impact p0 -6.216 £ 0.009

30k A S I Y 9.901+ 0.010
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eEncouraging
eSuggests
drift velocity
wrong by 15%
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X: Run331298 30 GeV &t

x(layer 1) vs x_ x? 1 ndf 91/39

pha pO -11.27 + 0.01
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§ Why not
. constant?
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